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Subjects : General English, General Knowledge & Aptitude & Social Works

Marks : 350
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Read the following instructions carefully before you
begin to answer the questions.

INSTRUCTIONS TO CANDIDATES
1. This booklet contains 200 guestions to be answered in a separate OMR Answer Sheet using Black
Ball Pen in following three parts:

Part-A-General English : 50 questions, Part-R-General Knowledge & Aptitude : 50 guestions,

Part-C- Social Works : 160 questions
2. All Questions are compulsory.
You will be supplied the Answer sheet separately by the invigilator. You must complete the details of
particulars asked for. : 7
4. Answers must be shown by completely blackening the corresponding circles in the Answer Sheet
against the relevant question number by Black Ball Pen. OMR Answer Sheet without marking series/
le series marking shall not be evaluated.

Example :
Supposing the following question is asked :-

ag

The L ap ta& of Meghalaya is-

®®O0®

In the above illustration, i‘ ur chosen response is alternative C i.e. Shillong, then the same should be marked on
the Answer Sheet by bl ung the relevant circle with a Black Ball Point Pen only as below -

®6 Q0

WHICH IS THE ONLY CORRECT METHOD OF ANSWERING

93]

Answer the questions as quickly and as car. 5 lly as you can. Some questions may be difficult and others

easy. Do not spend too much time on any one question.

There will NOT be any negative mﬂ-rkmo I’?;);" WIONG answers.

The Answer Sheet must be handed over to the invigilator before you leave the Examination Hall,

8. No rough work is to be done on the Answer Sheet. Space for rough work has been provided in the
question booklet.
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PART -A-GENERAL ENGLISH

Marks

Each question carries 2 marks :
Directions : {(Q. No 1-15) Fill in the blanks
with the appropriate preposition from the

options given:

1. He shrank _ going there.

a) from b) at

¢) in d) of

2. She is senior me in service.

a) to b) than

c)on d) from

3. The attacker threatened them _ a gun.
a) by b) against

¢) from d) with

4. There 15 no cause anxiety.

a} about b)in

¢) for d) to

5. Everyone must answer himself.
a) by b) at

¢) to d) for

6. He supplied the poor clothing.

aj for b)in

c)to d) with
7.1don’t get  with my room-mate.
a) along b) over

¢) on d) against

8. The tusker was caught an hour,
a) inside b) within

¢} through d) with

9. We have to make our way _ the crowd.
a) against b) into

c) through d) along

10. I am bent attending the meecting.
a) on b) down

¢) at d) for

11. She is too young to trave! _ herself.
a) with b) for

¢) on d) by
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12. Itis along time I saw my friend.

a) after b) before

¢) since d) beyond

13. T was deeply shocked  his behaviour.
a) by b) at

¢) with d) from

14. What is the necessity __ this book 7
a) about b) against
¢) for d) in

15. The prize 1s to be divided ___the two friends.
a) among b) amongst
¢) with d) between

Directions (Q. No 16-20) In these questions
some of the sentences have errors and
some have none. Find out which part of a
sentence a, b, ¢, d has an error and select
that part as an answer. If there is no error
then (D) is the answer.

16. 1live (A) / half of a mile (B)/ from here (C)/
No error (D)

17. The Greeks (A) were known {BY as brave
peoples (C)/ No error (D)

18. Global warming (A)/ is a threat (B)/ to
civilisation (C)/ No error (D)

19. He called me (A) as (B)/ a fool (C)/ No
error (D)

20. You should ‘(A)/ take care (B)/ of the plant
(C)/ No error (D)

Directions : ( 3. No 21 - 30) In these ques-
tions four alternatives are given for the
idiom/phrase. Choose the alternative which
best expresses the meaning of the given
idiom/phrase.

21. Take the bull by the horns
a) to deal decisively with a difficult problem
b) to beat up a person
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¢) to push the enemy
d) to take part in a sporting activity

22. Keep one’s head above water.
a) to swim like an expert

b) to stay calm

¢) to stay out of trouble

d) to be confident

23. Word for word

a) wrong words

b) exact words

¢) impolite words

d) inappropriate words

24. Pui across

a) to cross the street

b) to put in the right place

¢) to oppose

d) to communicate

23. To move heaven and earth
a) to pray earnestly

b) to make every possible effort
¢) to sing beautifully

d) none of the above

26, Give the game away
a) to lose a match

b) to give a present

¢) to play well

d) to let out a secret.

27. Take a knock

a) to open the door

b) to fall il

¢) to be badly affected
d) to be hospitalized

28. Like a moth to a flame
a) irresistibly attracted

b) terrible

¢) lovely

d) interesting

29. A lame duck

a) slow and dull person

b} notorious person

¢} a winner

d) a person who is mefficient

30. A hot potato
a) a controversial issue b) a boring issue
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¢) old and ugty

d) very tasty

Directions: {(Q. No 31-35) In these ques-
tions, out of the four alternatives given,
choose the one which is opposite in mean-
ing to the underlined word :

31. Fastidious
a) Unpleasant
¢) Indifferent

32. Repeal
a) Enact

¢) Praise

33. Sporadic
a) Periodic
¢) Free

34. Astu‘tp
a) Intelligen

=
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35, Aversion
a) Hatred
¢) Dislike

b) Co-operative
d) Truthful

b) Dismiss
d) Challenge

b) Irregular
d) Constant

by Rude
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Directions: (3. No 36-40} In these ques-
tions out of the four alternatives choose the
one which comes closest in meaning to the

given word :

36. Spectacle
a) Impression
¢) Panorama

37. Reprimanded
a) Rejected
¢} Scolded

38. Ominous
a) Peaceful
¢) Unlucky

39. Ostracize
a) Welcome
¢) Abuse

40, Clardestine
a) Open
¢) Secret

b) Sight
d) Worldview

b) Turned out
d) Praised

b) Calm
d) Promissing

per)

b} Accept
d) Boycott

b) Straight forward
d) Honest

Directions : (. No 41-50) In the following
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questions, sentences are given with blanks
to be filled with an appropriate and suitable
word. Four alternatives are suggested for
each question. Choose the correct alterna-
tive out of the four,

41. fcan __ bear the strain.

a) little b} hardly

¢) weakly d) less

42. He1s __ false charges against me.

a) aiming b) throwing

¢) levelling d) sending

43.  I'known you were coming I would have
prepared lunch for you.

a) had b) was

¢) shall d) would

44. He goes to his teacher ___ for guidance.
a) mugl b} quickly

c) fast d) regularly

45, This 1s the ___ edition of the book.
aj latest b recent
¢) latter d) later

46. When | reached the station, the train © .

a) was lefi b} has left

¢) had left d) would leave
47. He succeeded _ the prize.

a) to win b) to winning
¢) in winning d) at winning
48. It s an situation.

a) incapable b) invaluable
¢) inside d) impossible
43. He went to the match __ his problems.
a) for b)in

¢) in spite of d) according to
50. He s a good student.

a) alas b) indeed

¢) strangely d) gloriously
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PART - B-GENERALKNOWLEDGE & APTITUDE

Marks : 50

Each guestion carries 1 mark :

51. Which of the following is tropical grassland ?
a) Taiga b) Savannah
¢) Pampas d) Prairies

32. The hot, dry wind on the cast or leeward side
of the Rocky mountains { North America jis called
a) The Chinook b) The Sirocco

¢) The Harmattan d) The Loo

53, The greatest variety of animal and plant spe-
cies is found in

a) temperate grasslands

b) tropical moist forests

¢) tundra regions

d) 1n hot deserts

54, The gulf that separates Finland and Sweden
in Europe is

a) The Gulf of Bothnia  b) The Gulf of Lions
¢) The Gulf of Genoa  d) The Gulf of Venice

55, Which of the following items would not ap-
pear in a company’s balance sheet ?

a) Value of stocks of raw materials held

b) Total issued capital

¢) Revenue from sales of the company’s prod-
ucts

d) Cash held at the bank

56. Debenture holders of a company are 1ts
a) Sharcholders b) Crediiors
¢) Debtors d) Directors

57. Deficit financing means that the government
borrows money from the

a) RBI b) Local bodies

¢) Big businessmen d) IMF .

58. If an economy is equilibrium at the point where
plans to save and to invest are equal, then govern-
ment expenditure must be

a) Zero

b) Equal to government income

¢) Larger than government income

d) Negative

59. Which onc of the following links all the ATMs
m India ? ’

a) Reserve Bank of India, RBI
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b) National Payments Corporation of India, NPCI
¢) Indian Banks’ Association, IBA
d) Securities and Exchange Board of India, SEBI

60. A train 125 m long passes a man, running at 5
kmv/hr in the same direction in which the train is
going, in 10 seconds. The speed of the train is :
a) 45 km/hr b) 30 km/hr
¢) 54 km/hr d) 55 km/hr

61. What is the average of all prime numbers be-
tween 20 and 40 7

a) 25 b) 30

c) 32 d) 35

62. If MADRAS is written as NBESBT, how can
BOMBAY be written in coded terms ?
2) CPNCRX 5 CPOCRZ
¢) CQOCBZ d) CPNCBZ

63. A train can travel 50% faster than a car. Both
start from point A at the same time and reach point
B 75 kms away from A at the same fime. On the
way, however, the train lost about 12.5 minutes
while stopping at the stations. The speed of the
car is

a) 100 kmph
¢) 120 kmph

b) 110 kmph
d) 130 kmph

64. The cost price of 20 articles is the same as
the selling price of x articles. If the profit is 25%,
then the value of x 1s :

a) 15 b) 16

c) I8 d) 25

65. In a certain store, the profit is 320% of the
cost. If the cost increases by 25% but the selling
price remains constant, approximately what per-
centage of the selling price is the profit 7
a)30% b) 70%

¢) 100% d) 250%

66. The average weight of & person’s increascs
by 2.5 kg when a new person comes in place of
one of them weighing 65 kg, What nught be the
weight of the new person ?

a) 76 kg b) 76.5 kg

c) 85 kg d) 90 kg

67. A library has an average of 510 visitors ou
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Sundays and 240 on other days. The average
number of visitors per day in a month of 30 days
beginning with a Sunday 15

a) 250 b) 276

c) 280 d) 285

68. What least munber must be added to 1056,
so that the sum is completely divisible by 23 ?
ay2 b)3

c) 18 d) 21

69. 3 pumps, working 8 howurs a day, can empty
a tank in 2 davs. How many hours a day must 4
pumps work to empty the tank in 1 day ?

a)9 b) 10

c) 11 d) 12

70. 3(3 people can repair a road in 12 days, work-
ing 3 hours a day. In how many days will 30
people, working 6 hours a day, complete the
work?

a) 10 b) |
c) 14 d)

U
L

71. In a camp, there 1s a meal for 120 men or
200 children. If 150 children have taken the meal,
how many men will be catered to with remain-
ing meal 7

a) 20 b} 30

c) 40 d) 50

72. A boat can travel with a speed of 13 km/hr in
still water. If the speed of the stream is 4 kin/hr,
find the time taken by the boat to go 68 km down-
stream.

a) 2 hours b) 3 howrs

¢) 4 hours d) 3 hours

73. A man takes twice as long to row a distance
against the stream as to row the same distance
m favour of the stream. The ratio of the specd of
the boat (in still water ) and the stream is :

a)2:1 by3:1
cy3:2 d) 4
74

dentify the odd one out : 10, 25, 45, 54, 60,

10 b) 45
54 d) 75

75. Select the missing term based on the given
related pair of terms :
COULD : BNTKC :: MOULD

a) LNKTC b) LNTKC
¢) NITKH d) LNTKH
CDPO-23

76. Identify the odd onc out : 41, 43, 47, 53, 61,
71,73, 81

a) 61 b 71

¢) 73 d) 81

77. If a train called bus, bus is called tractor, trac-
tor 1s called car, car is called scooter, scooter is
called bicycle, bicycle is called moped, which one
is used to plough a field ?

a) Train b) Tractor

¢) Car d) Bicycle

78. Excluding stoppages, the speed of a bus is 54
kmph and including stoppages, 1t is 45 kmph. For
how many minutes does the bus stop per hour ?
a9 b) 10

c) 12 d) 20

79. A farmer travelled a distance of 61 km in 9
hours. He travelled partly on foot @ 4 km/hr and
partly on bicycle @ 9 km/hr. The distance trav-
elled on foot is :

a) 14 km b) 15 km

¢) 16 km d) 17 km

80. Tt takes eight hours for a 600 km journey, if
120 km is done by train and the rest by car. It
takes 20 minutes more, if 200 km is done by train
and the rest by car. The ratio of the speed of the
train to that of the cars is :

a)2:3 b)3:2

¢)3:4 dy4:3

81. A alone can do a piece of work in 6 days and B
alone in 8 days. A and B undertook to do it for Rs.
3200. With the help of C, they completed the work
in 3 days. How much is to be paid to C ?

a) Rs. 375 b) Rs. 400

¢) Rs. 600 d) Rs. 800

82, How many times do the hands of a clock coin-
cide in a day ?

a) 20 b) 21

c) 22 d) 24

83. Tea worth Rs. 126 per kg and Rs. 135 per kg
are mixed with a third variety in the ratio 1:1:2. If
the mixture 1s worth Rs. 133 per kg, the price of
the third variety per kg will be :

a) Rs. 169.50 b) Rs. 170

c) Rs. 175.50 d) Rs. 180

84. 60% of 264 is the same as
a) 55% of 350 by 17% of 544
¢) 15% of 1056 d) 68% of 256
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85. The territory of Porus who offered strong
resistance to Alexander was situated between the
rivers of

a) Sutlej and Beas
¢} Ravi and Chenab

b) Jhelum and Chenab
d) Ganga and Yamuna

86. To conquer and annex Peshawar and Punjab,
Mahmud of Ghazni defeated

a) Ghurids b) Arabs

¢) Karkotakas d) Hindushahis

87. The language of discourses of Gautama Bud-
dha was

a) Bhojpuri b) Magadiu

¢) Pali d) Sanskrit

88. The tuitle given by the British Government to
Mahatma Gandhi which he surrendered during the
nen-cooperation movement was

a) Hind Keasri b) Kaiser-e-Hind

¢) Rai Bahadur d) Rt. Honorable

89, Tulsidas the anthor of Ramcharitmanas was
a contemporary of which of the following rulers?
a) Akbar b) Humayun
¢) Shalyjahan d) Sher Shah Suni

90. The president can dismiss a member of the
council of ministers

a) on his own

b) on the recommendation of the prome ministers
¢) only under emergency conditions

d) with the consent of the speaker

91. The office of the prime munister of India
a) Has a constitutional basis

b) Has a statutory basis

c¢) Has conventional basis

d) None of the above

92, Preamble of Indian Constitution enshrines the
tdeals of liberty, equality and {raternity ideals in-
spired by the

a) Russian Revolution  b) Irish Revolution

c) French Revolution  d) US Constitution

93. One of the following is neither allowed to use
a beacon nor a siren on the car. Identify the right
personality.

a) Cluef Justice of Supreme Court

b) Chiel Minister of a State

¢) Chief of Naval Staff

d) Member of Parliament

94. If you travel from Kohima to Kottayam by
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road, what is the minimum number of States
within India through which you can travel, in-
cluding the origin and the destination states ?

ay 7 b) 8

c) 6 4)9

95. The gas usually filled 1n the electric bulb is
a) Nitrogen b) Hydrogen
¢) Carbon dioxide d) Oxygen

96, Quartz crystals normally used 1n quartz clocks
etc. is chemically

a) Silicon dioxide

b) Germanium oxide

¢) A mixture of germanium oxide and silicon di-
oxide

d) Sodium silicate

97. Very small time mtervals are accurately mea-
sured by
a) White dwarfs

¢) Atomic clocks

b) Quartz clocks
d) Pulsars

98, Which among the following is a positively
charged particle emitted by a radiocactive element?
a) Betaray b) Aipha ray

¢) Cathode ray d) Gamma ray

99. Detergents used for cleaning clothes and uten-
sils contain ?

a) Bicarbonates
¢) Sulphonates

b) Bismuthates
d) Nitrates

100. The landmass of which of the following con-
tinents is the least 7 _

a) Africa b)Asia

¢) Australia d) Europe
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PART - C -SOCIAL WORKS

Marks: 200

Each question carries 2 marks :

101, The five stages of group development were
propounded by

a) Tuckman b) Peter Trucker

c) H.B Trecker d) G Konopka

102. is the first settlement i UK. which is
associated with Group work,

a) Charity Oraganizational Society

b) Neighborhood guild

¢) Toynbee Hall

d) Hull House

103. Who is the author of the bock “Social Group
Work- A Helping Process” ?

a) Wilson G and Ryland b) H. B. Trecker

¢) G Konopka d) Philps H. U.

104, Identify the correct sequence regarding
stages of group formation given by Klein.

a} Orientation, Negotiation, Resistance, Intimacy,
Termination

b} Negotiation, Resistance, Orientation, Intimacy,
Ternunation

¢) Orientation, Resistance, Negotiation, Intimacy,
Termunation

d) Resistance, Negotiation, Orientation, Intimacy,
Termination

185, Social Group Work as a method does not
help

a) Individuals to enhance social functioning
through purposeful group experience.

b) Community to solve problems of group in a
community.

c) Provide a context in which individuals help each
other

d} All of the above.

106. “Paper on Social Work-An Indian Perspec-
tive” was written by :
a) G R. Banerjee

¢) Sachdev

b) G R Madan
d) Marula Siddaiah

197. Chanty Organization Society (COS) in USA
was established in the vear.

a) 1870 b) 1877

c) 1818 dy 1900

108. The goal of social work is
a) To reduce social tensions
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b) To provide services to all
¢) To promote social justice
d) To service the elite

109, The Universal Declaration of Human Rights
as adopted

a) 1944 b) 1947

c) 1945 d) 1948

116. ___ refers to the protection of society against
crime.

a) Social Welfare b) Social Defense

¢) Social Security d) Social Development
111, Which one of the following is not a part of
Social Case work Process ?

a) Treatment b) Assessment

¢) Study d) Content Analysis

112. Which one of these are techniques of Social
Case work ?

a) Universalization
¢} Both (a) and (b)

b) Encouraging
d) None of (a) and (b)

113. Which among the following is not a compo-
nent of client - case worker relationship ?

a) Autonomy b) Confidentiality

¢) Empathy d) Sympathy

114, Diagnostic school of Social Casework was
developed by

a) Ross b) Jung

¢) Rank d) Mead

115. Identify the correct sequence regarding stages
of Social Casework

a) Study, Intake, Social Diagnosis, Treatment,
Termination, Evaluation

b) Intake, Study, Social Diagnosis, Treatment,
Evaluation, Ternmuination

¢) Intake, Study, Social Diagnosis, Treatment,
Termination, Evaluation

d) Study, Social Diagnosis, Intake, Treaiment,
Termination, Evaluation

116. The term __ has a general meaning when it
is used to refer to the well being of the members
of the community, state or nation.

a) Social Welfare

b) Public Welfare
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¢) Economic Welfare
d) Scientific Programme

117. Central Welfare Board was set up m
a) 1950 b) 1953
c) 1965 d) 1951

118. Which organization was set up in 1956 to
coordinate and promote health education ?

a) Primary Health Centres

b) National Nuirition Monitoring Bureau

¢} The Central Health Education Bureau

d) Indian Council of Medical Research

119, In India, the Mimistry of Welfare adopted the
name Ministry of Social Justice and Empower-
faent m -

ay 1986 b) 1998

¢) 1976 d) 1991

120. The organized non-profit activity for public
purpose outside of both market and state is calied:
a} Civil Socicty Scctor  b) Government Sector
¢) Corporate Sector d) None of the above

121. Which one of the following is not an indica-
tor of social development of a country ?

a) infant Mortality Rate

b) Average Life span

¢) Incidence of Litigation in the courts

d) Literacy rate

122. Kaka Kalekhar was associated with
a) Scheduled Caste Commission

b) Scheduled Tribe Commission

¢) Mincrities Commission

d) Backward Class Commussion

123. Identify the correct chronological sequence:
a) Aryva Samaj, Atrmiya Samaj, Bhramo Samaj, Arya
Mahila Samaj

b) Bhramo Samaj, Atmiva Samaj, Arya Samaj, Arva
Mahila Samaj

¢) Atmiya Samaj, Bhramo Samaj, Arya Samaj, Arya
Mahila Samaj

d) Arya Malala Samaj, Arva Samaj, Atmiya Samaj,
Bhrame Samaj

124. The Laws of three stages of social develop-
ment was originally propounded by :

a) Karl Marx b) Talcott Pearsons

¢) Auguste Compte d) Herbert Spencer

125. Which of the following is not a social msti-
tution 7
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a) Caste b) Family
¢) Education d) Religion

126. The National Association of Social Workers
was formed in

a) 1948 b) 1950

c) 19352 d) 1936

127. Who propounded the concept “‘Conjugal Fam-
ity™?

a) Talcot Parsons
¢) William J. Goode

b) Murdock
d) None of the above

128. The Govermment of India adopted the Na-
tional Policy for children in the year

a)y 1975 b) 1974

¢) 1963 d) 1985

129. Who proposed ‘Client Centered Therapy” ?
a) Carl Rogers b) Amna Freud

¢) Paul Goodman d) Addler

130. The essential characteristics of resecarch :
a) Description b) Exploration
¢} Experimentation d) All of the above

131. Child Labour (Prohibition and Regulation) Act
came into being in the vear :

a) 1947 - b) 1952

¢) 1986 d) 1991

132, Lok Adalat refers to :
a) Out of court settlement
b) Decreasing the case load of courts for speedy

1ustice

¢) Summary trial
d) People deciding about their problems

133. Denotified tribes are:
a) Ex-criminal fribes

b) Untouchables

¢) Wandering communities
d) Artisans

134, Who is the author of ‘Pattern of Culture” 7
a) Ruth Benedict b) G W. Allport
¢) Kimball Young d) M.N. Srinivas

135. The 73rd Constitutional Amendment relating
to Panchayati Raj came into force in the year :
a) 1992 b) 1993

c)y 1994 d) 1995

136. The formula used to determine “Intelligence
Quotient’ is
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a)LQ=PA/CA x 100 b)lQ= CA/MA x 100
¢)LQ=CAMA x 200 d)LQ=MA/CA x 100

137. _ was associated with conscientization
model.

a) Murray G Ross
¢) H.B. Trecker

b) Paulo Friere
d) None of the above

138. Gandhiji was associated with

1) Trusteeship i) Non ~-Violence
1i1) Imperialism iv) Truth

Codes :

a) 1 and 11 are correct

b) 1, 11 and 111 are correct

¢) 1, 11 and 1v are correct

139. Arrange the following steps in Research Pro-
cess 1n a logical sequence

1} Data collection 11) Setiing of objectives
111) Report writing iv) Data analysis
Codes :

aYii i by i IR

Mj J.l: iy 1%, 321 U/ 1, Lig l;l,iﬁ

¢) i, iv, i, i d) iv, i, if, i

140, Scientific attitude 1s based on
a) Wishful thinking b) Spiritual thinking
¢y Consistent thinking  d) Devotional thinking

141. Pilot study refers to

a) Preliminary testing of the tools used for the
research

b) Follow up study done within a year after the
original study

¢) Preliminary study conducted on a limited scale
before the original study.

d) Macro level study undertaken to test the hy-
pothesis

142. Determinant of population growth is

i) Family 1) Marriage
111) Economy 1v) Fertility
Codes :

a) i and 11 are correct b) 11 and 11 are correct
c) il and 1v are correct  d) Only iv is correct

143. The book ‘Social Diagnosis’™ was written by
a) Mary Richmond b) Joseph Luft
¢) Perelman d) Ross

144. Public Inferest Litigation refers to

ay Mechanism to provide justice out of the Court
b) To provide speedy justice

¢) To provide justice to poor, needy and weaker
sections of society with the help of the NGO’s
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and media
d) None of the above

145. Which of the following is not a social pro-
cess?

a) Accommodation
¢) Annihilation

b) Acculturation
d) Assimilation

146. Panchayati Raj Institutions in India have
brought about one of the following :

a) Eradication of untouchability

b) Land ownership to depressed classes

¢) A formal representation of weaker sections in
village governance

d) Spread of education

147. Manifestation of repressed ideas in the form
of finer things is
a) Sublimation

¢} Compensation

b) Ambivalence
d) Fixation

148. Who gave the concept of ‘Looking glass
self”?

a) Karl Marx
¢) C.H. Cooley

b) G H. Mead
d) M.K. Gandhi

149. Human Development Report is published by
a) World Bank b) MPUC
¢) UNDPs d) UNICEF

150. ‘Reassurance’ is one of the techniques that
come under the broad category of

a) Directives b) Information seeking
¢) Minimal responses  d) Complex responses

151. ‘Normative System’ refers to

a) System of rules and norms of the society
b) Culture of the society

¢) Conventional behaviour of the society

d) All of the above

152. The constitution of India was adopted on
a) 26" November 1949 b) 15% August 1947
c) 26" January 1950 d) None of the above

153. In which among the following States i In-
dia, Community Development Programme was
first initiated in 1952 ?
a) Tamil Nadu
¢) Meghalaya

b) Punjab and Haryana
d) Rajasthan

154. Which 1s/are the approaches to community
organization ?

a) Community driven development

b) Social capital formation
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¢) Ecological sustainable development
d) All of the above

155, The Juvenile Justice (Care and Protection of
Children) Act was passed 1n

a) 1996 b) 2008

c) 2006 d) 2000

156. Which among the following 15 the depart-
ment created under the Ministry of Social Justice
and Empowenment from May 2012 7

a) Department of Higher Education

b) Department of Disability Affairs

¢) Department of Health Research

d) Department of Rural Development

157. The author of the book “From Charity to
Social Work™ 1s
a) Mary Richmond
¢) Jane Adams

b) Friedlander
d) Elizabeth N. Agnew

158, The sensing of skin through touch or pres-
SUre is

a) Visual perception b) Olfactory perception
¢) Kinesthetic perception d) Auditory perception

159, 12th August is celebrated as

a) International Day of Rural Women
b) World Humanitarian Day

¢) World Habitat Day

d) International Youth Day

160. The sexual harassment of women at work-
place ( prevention, prohibition and redressal ) Act
was passed in
a) 1998
¢) 2012

b) 2006
d) 2013

161. The phrase ‘Human Rights” was first used
n

a) League of Nations Covenant

b) French Declaration of the Righis

¢} Charter of the United Nations

d) American Declaration of Independence

162. In the principle of ‘Right to self determina-
tion” social worker

a) Recognises the right and need of clients to free-
dom in making their own choices and decisions
b) Recognises the right to privacy of the client
¢} Examines the situations of clients without bias
d) Recogmises the client’s gemune concern, points
of view and help n taking decision

163. Emotional disorders in which an individual
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remains oriented to reality but suffers from
chronic anxiety is
a) Schizophrenia

¢) Paranoid states

b) Depression
d) Neurosis

164. “Management is an art of knowing what you
want to do and then sceing that it is done the best
and cheapest way”. Identify the right author :

a) Henry Fayol b) Peter F. Drucker

¢} Paulo Freire d) None of the above

165, “To Manage 1s to forecast, to plan, to organise,
to command, to co-ordinate and to control”. Iden-
tify the right author :
a) Henry Fayol

¢} Peter F. Drucker

b) FW. Taylor
d) Nene of the above

166. “Manageraent 1s the art of getting things done
through and with people”. Identify the right au-
thor :

a) Peter F. Drucker
¢} Hemry Fayol

b)Y EW. Taylor
) None of the above

167. The Indian Journal of Social Work was started
m the year

a} 1938 b) 1940

c) 1948 d) 19352
168. An Achieved Status 1s based on
a) Birth

b) Caste

c) Abilities

d) Financial position of family

169. World No Tobacco day is observed on
a) 31st January b) 31st May
¢} 31st July d) 31st August

178, The three tire system of Panchayat Raj con-
sists ‘

a) Centre - state - district

b) State - district - Block

c) Block - village - hamlet

d) Gram Sabba - Panchayat Samiti and Zilla
Parishad

171. __ is/are the process of catharsis
a) Helping to reduce cating

b) Ventilation of feclings

¢) Supporting for better slecp

d) All of the above

172. The method by which the relative worth of
jobs i an organisation is deternuined is called as

a) Job Descrigtion b) Job Evaluation
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¢) Job Specification d) Job Analysis

173. Cognitive needs™ of human beings are the
needs

a) To develop abilities

b) For symmetry, order and beauty

¢) For security and freedom from attack

d) To know, to understand and to explore

174. “Learned helplessness® is a concept based
on

a) Unconditional positive learning

b) Social learning theory

¢) Hypothetical constructs

d) Psychoanalytic approach

175. International Day for the disabled is celebraied
every year in the month of

a) October b) September

¢) November d) December

176. The defense mechanism

a) Emerges randomly

b) Helps mndividuals cope with their internal and
external state of anxiety and distress

¢} Cannot be brought under conscious control to
ward of anxiety

d) Operaie to maintain a sense of serenity

177. What 1s the main goal of the United Nations?
a) Employment generation

b) Women empowerment

¢} Eradicate child labour

d) International Peace

178. Medha Patkar is known in the field of ?
a) Corporate Social Responsibility

b) Activism

c) Naxalism

d) Journalism

179. The Union Cabinet of the Government of
India, on 27 August 2009, approved % reser-
vation for women in PRIs (Panchayati Raj Insti-
tutions).

a) 30 b) 33

¢c) 50 d) 35

188. NICP means

a} National mitiative for child protection
b) National integrative for child program
c) National integrative for child policy
d) National initiative for child planning

181. Which of the following is not responsible
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for greenhouse effect in the atmosphere ?
a) Methane b) Nitrous oxide
¢) Carbon dioxide d) Hydrogen

182. Red corridor refers to
a) Butchering areas

b) Naxalites affected areas
¢) International boundary
d) Military training centre

183. The popular term ‘chicken’s neck’ in India
refers to :

a) A Narrow corridor that links India with the
Northeast

b) A Neck of a chicken

¢) A strip of land that links India with Burma

d) None of the above

184. The MUDRA Bank Yojana was launched by
a) Atal Bibari Vajpayee b)) Manmohan Singh
¢} Narendra Modi dj Rajiv Gandhi

185, SHG stands for

a) Self-Help Group

b) Socially Homogenous Group
¢) Socially Harmful Group

d) Sustainable Home Garden

186. Standard deviation is always calculated from:

1) Mean

11y Median

111) Mode

Find out the answer from the code below
a)1and 1 only b)1and 11 and ii1
¢) 1 and 111 only d) 1 only

187. The value of mean, median and mode are
same as in the case of :

a) Normal Distribution

b) Skewed Distribution

¢) Binominal Distribution

d) Abnormal Distribution

188. Which 1s not the principle of experimental
design 7

a) Principle of Rephication

b} Principle of Universalization

¢) Principle of Randomization

d) Principle of Local Control

189. Mean difference is also called as
a) Standard Error b) Variance
¢) Co-efficient d) Correlation

190. Correlation co-efficient tends to lie between
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a) 0to-+1
c)0ta-1

b) +1 to -1
d)+lto -1

191. ‘Power’ is gained, whereas ‘authority” is
a) Acquired b) Possessed
¢) Imposed d) Nested

192, The structure of social action was pro-
pounded by

a) Max Weber

¢) Talcott Parsons

b) Robert Milton
d) Radcliffe Brown

193, Assertion (A) Community organization leads
to Social Action.

Reason (R) Social Action may not always leads to
community Organization.

a) Both (A) and (R) are correct

b} (A) is correct, (R) 18 wrong

¢) (R) 18 correct, (A) 1s wrong

d) Both (A) and (R) are wrong

194. Paulo Friere’s approach could be briefly
stated as

a) Organization of services for people

b) Mobilization of comnumity leaders

¢) Action reflection process with people

d) Identification of target systems for work

195. Sequence the following steps of community
organization process

1) Identifying needs/objectives

i) Find resources to deal with these needs and
objectives

ii1) Order these needs/objectives

iv) Extend and develop collaborative attitudes
Code :

a)i, i, 1, iv
¢) il 1, 11, iv

b) i, i, ii, iv
d) i, ii, 1, iv

196. Maslow in his triangle of human needs
showed that

a) Challenging new tasks is the basic human need
b) Money always motivate the workers

c) Safety and security is a lower level human need
d) Workers will not give of their best unless they
have good social events provided by the company

197. According to Sigmund Freud the critical and
moralizing role is played by :

a) Id b) Ego

¢} Super ego d) All of the above

198. Identity crisis and role confusion is the char-
acteristic of
a) Adulthood b) Childheod
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c) Old Age d) Adolescence

199, The theory that propounds - childhood ex-
periences causes the adult behavior is :

a) Person-centered

b) Behavior modification

¢) Psycho - analytical

d) Existential

200. Psycho - social theory was propagated by

a) Sigmund Frued b) Skimner
¢) Erikson d) Perlman
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